ZEFHEEMAER LR (FEam mF L)

T fE &t B 2y fd
EH O O+ L
el 12.0 m + o /H =
W% T
éﬁ%?m 18.3 i + nt/ H =
GE%&E%B) 18.3 m + o /H =
ﬁ’ﬁfgﬁ) 13.1 i + nt/ H =
<§) 18.4 m — m:/ H =
(Bt i 5) 2.0 m ~ m /R =
<§§%> 29.0 nf + m/ H =
Pk E Y T
BUSHTIE S T (1) E735 A 50.8 kg + ke / H =
avyy)—=h 0.5 m = m,/ H =
TR P 2.1 m + m/ H =
B TS T (B) R T 85.1 kg + kg / H =
avyy)—=h 1.0 m + m/ H =
TR e 3.7 m + m/ H =
& W E T
T L L 2 e B0 M 18.5 m + m/ H =
LS R B Wy 50.2 m + m/ H =
S AR AP 60.4 ni i /H =
2Ly ) — FEEL 2.0 i + m,/ H =
REFHHERE A 1A X B X L2 =
REFEERE B A X BX L2 =
MR BB ORI, VEE AR NBTA LD ko &5,
MESEFE LA O NEIE, DBU TR EFEEUE & T2,




RBEFHEEHEREHRL (TEREESE—ER)

T Fh il B 2y fi
SR s
A1 32.0 m + i/ H =
o % T
AR T 284.6 m + o/ H =
AR 13.2 nf + m,/ H =
e 297.8 mf —+ m/ H =
T AN —T 20.0 m m / H =
HEw M E T
MR LT AsHHEER UM 12.0 m + m,/ H =
CofliZ i B 1er 2.6 m + m / H =
As RSB 285.2 nf —+ m/ H =
Cofli A& It 2.6 nf + m/ H =
REHEERE A 1A X HX 1.2 =
RBEFHERE B A X BX 1.2 =

KAEEH ORI, DEE A2 UG A LD (kD &2,
KASEFHEEMBEONEUT, PELT 280 BT BEEuED LT 5,
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